 Find the-answers to these calcuiations.

24 +6+2

70+ (3 x 4)

?ﬁ%

o

6 x (18 — 15)

T

. Work out the answers to these calculations.

48-32+8

RSN

Bection One — Whole Numbers

12x5-3

2 marks

35— (50 + 2)

2 marks

(54 +27)+ 9

2 marks

0+10x7

2 marks

© CGP — Not to be photocopied

90 — 92 7 %23

@

22 4 32 82 12

2 marks

RSN

Caleate:

7°+8x6 3F-18+9

2 marks

RSN RSN

(7)) workiout the answers foth caciatons below:

(5+3)2+ 16 5% % (4 — 1)

2 marks

2 marks

i W ondr fo 6 fhengs 1 5 caloulation:

e
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